Communications in Mathematics and Applications

Vol. 13, No. 1, pp. 253–263, 2022 ISSN 0975-8607 (online); 0976-5905 (print) Published by RGN Publications DOI: 10.26713/cma.v13i1.1698



Research Article

A Generalised Balancing Sequence and Solutions of Diophantine Equations $x^2 \pm pxy + y^2 \pm x = 0$

P. Anuradha Kameswari* [©] and K. Anoosha [©]

Department of Mathematics, Andhra University, Visakhapatnam, Andhra Pradesh, India *Corresponding author: panuradhakameswari@yahoo.in

Received: October 5, 2021 Accepted: December 13, 2021

Abstract. We consider a generalization of balancing sequences and investigate some properties of the generalised balancing sequences in this paper. For a positive integer p we solve for the Diophantine equations, $x^2 \pm pxy + y^2 \pm x = 0$ and express its solutions in terms of generalised balancing sequences.

Keywords. Diophantine equation, Balancing sequences

Mathematics Subject Classification (2020). 94A60, 11T74

Copyright © 2022 P. Anuradha Kameswari and K. Anoosha. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

1. Introduction

Behera and Panda [2] defined balancing numbers and balancers, respectively as the natural numbers n and r that satisfy the Diophantine equation

$$1+2+3+\ldots+(n-1)=(n+1)+(n+2)\ldots+(n+r).$$

This equation when simplified gives $n^2 = \frac{(n+r)(n+r+1)}{2}$. This leads to the conclusion that if n^2 is a triangular number then n is a balancing number and vice versa. B_n is denoted as the nth balancing number. It satisfies the recurrent relation

$$B_{n+1} = 6B_n - B_{n-1}$$

with $B_0 = 0$ and $B_1 = 1$. Hence they are also called as balancing sequences. Panda and Rout [7] generalized the above recurrent relation to

$$B_{n+1} = pB_n - qB_{n-1}$$

with $B_0 = 0$, $B_1 = 1$ for p a positive integer, they also proved that all properties of balancing number studies are also true for this generalised sequence when q = 1. Many authors have discussed the conics whose equations are satisfied by terms of balancing numbers. In this paper we investigate some properties of the generalised balancing sequences. We prove that there are infinitely many positive integer solutions for the Diophantine equation $x^2 \pm pxy + y^2 \pm x = 0$ for a positive integer p, that are positive and can be written in the terms of the above generalised sequence obtained by using continued fractions. Marlewski and Zarzycki [4] had proved that there exists infinitely many integer solutions (x, y), that are positive, for the Diophantine equation $x^2 - pxy + y^2 + x = 0$ if and only if p = 3.

Bahramain and Daghigh [1] proved that for a positive integer p the Diophantine equation $x^2 \pm pxy - y^2 \pm x = 0$ has positive solutions (x, y) that are infinitely many and they expressed these solutions in terms of Fibonacci sequences. We adapt a similar approach for the Diophantine equations $x^2 \pm pxy + y^2 \pm x = 0$ and show that there are infinitely many solutions in each case and express the solutions in terms of generalised balancing sequences.

2. Some Preliminaries on Generalised Balancing Sequences

Generalised balancing sequences are numbers satisfying the recurrent relation

$$B_{n+1} = pB_n - B_{n-1}$$

with $B_0 = 0$, $B_1 = 1$ for p, a positive integer. In this section we investigate some properties of the above balancing sequences for q = 1. The equation $B_{n+1} = pB_n - B_{n-1}$ can be expressed as a matrix equation given as

$$\begin{bmatrix} B_{n+1} \\ B_n \end{bmatrix} = \begin{bmatrix} p & -1 \\ 1 & 0 \end{bmatrix} \begin{bmatrix} B_n \\ B_{n-1} \end{bmatrix}$$

and the matrix $\begin{bmatrix} p & -1 \\ 1 & 0 \end{bmatrix}$ is denoted as Q_{B_p} . Basing on this matrix we prove some results on the above Generalised Balancing Sequence in the following subsection.

2.1 Some Results on Generalised Balancing Sequences

Theorem 2.1 ([1]). $Q_{B_p}^n = \begin{bmatrix} B_{n+1} & -B_n \\ B_n & -B_{n-1} \end{bmatrix}$, $n \ge 1$.

Proof. Follows by induction.

Remark 2.1 ([1]). The definition of the Balancing sequence $B_{n+1} = pB_n - B_{n-1}$ can be extended to all integers.

Theorem 2.2 ([1]). $B_{-n} = -B_n$ for all $n \ge 1$.

Proof. For
$$Q_{B_p} = \begin{bmatrix} p & -1 \\ 1 & 0 \end{bmatrix}$$
, we have $Q_{B_p}^{-1} = \begin{bmatrix} 0 & 1 \\ -1 & p \end{bmatrix}$. Now by taking $n = -q$ we get $B_{-(q-1)} = pB_{-q} - B_{-(q+1)}$

then by matrix representation we have

$$\begin{bmatrix} B_{-q} \\ B_{-(q+1)} \end{bmatrix} = Q_{B_p}^{-1} \begin{bmatrix} B_{(-q+1)} \\ B_{-q} \end{bmatrix}$$

Communications in Mathematics and Applications, Vol. 13, No. 1, pp. 253-263, 2022

and by induction we have

$$Q_{B_p}^{-q} = \begin{bmatrix} B_{-(q-1)} & -B_{-q} \\ B_{-q} & -B_{-(q+1)} \end{bmatrix}$$

Now from Remark 2.1, we get

$$Q_{B_p}^q = \begin{bmatrix} B_{q+1} & -B_q \\ B_q & -B_{q-1} \end{bmatrix}$$

for all $s \ge 1$, then

$$(Q_{B_p}^q)^{-1} = \begin{bmatrix} -B_{q-1} & -B_q \\ -B_q & B_{q+1} \end{bmatrix}.$$

Now as $Q_{B_p}^{-q} = (Q_{B_p}^q)^{-1}$, we have

$$\begin{bmatrix} -B_{q-1} & B_q \\ -B_q & B_{q+1} \end{bmatrix} = \begin{bmatrix} B_{-(q-1)} & -B_{-q} \\ B_{-q} & -B_{-(q+1)} \end{bmatrix}$$

giving $B_{-q} = -B_q$ for all $q \ge 1$.

Theorem 2.3 ([1]). $pB_nB_{n+1} - B_n^2 + 1 = B_{n+1}^2 \forall$ integers *n*.

Proof. Follows from det $(Q_{B_n}^n) = 1$ i.e. $-B_{n+1}B_{n-1} + B_n^2 = 1$.

Theorem 2.4 ([1]).

$$B_{m+n} = -B_{m+1}B_n + B_m B_{n-1} = B_m B_{n+1} - B_{m-1}B_n$$

$$B_{2m} = B_m B_{m+1} - B_{m-1}B_m$$

$$B_{2m-1} = B_m^2 - B_{m-1}^2 \quad \forall \text{ integers } m \text{ and } n.$$

Proof. Follows from the equality $Q_{B_p}^{m+n} = Q_{B_p}^m \cdot Q_{B_p}^n$.

2.2 Some Relations of Generalised Balancing Sequences and Convergents of A Continued Fraction

For any positive integer D, if \sqrt{D} can be written as continued fraction that is infinite and simple, given as $\sqrt{D} = a_1 + \frac{1}{a_2 + \frac{1}{a_3} + \dots}$ then it is denoted as $\sqrt{D} = [a_1, a_2, a_3, \dots]$. If \sqrt{D} can be written as continued fraction that is infinite and simple, given as $\sqrt{D} = a_1 - \frac{1}{a_2 - \frac{1}{a_3} - \dots}$ then it is denoted as

 $\sqrt{D} = (a_1, a_2, a_3, \ldots).$

For a non-negative integer *n*, the *n*th convergent of the continued fraction $[a_1, a_2, a_3, ...]$ is the real number $[a_1, a_2, a_3, ..., a_n] = h_n/k_n$. Then

$$h_{-1} = 0, h_0 = a_0; \quad k_{-1} = 0, \ k_0 = 1;$$

 $h_{n+1} = a_{n+1}h_n + h_{n-1}, \ n \ge 0; \quad k_{n+1} = a_{n+1}k_n + k_{n-1}, \ n \ge 0.$

For *n*, non-negative integer, the *n*th convergent of the continued fraction $(a_1, a_2, a_3, ...)$ is the real number $(a_1, a_2, a_3, ..., a_n) = h_n/k_n$.

Then

$$h_{-1} = 0, h_0 = a_0; \quad k_{-1} = 0, \ k_0 = 1$$

 $h_{n+1} = a_{n+1}h_n - h_{n-1}, \ n \ge 0; \quad k_{n+1} = a_{n+1}k_n - k_{n-1}, \ n \ge 0.$

Communications in Mathematics and Applications, Vol. 13, No. 1, pp. 253–263, 2022

Let $p \ge 1$ be any integer then, $p^2 - 4$ is a real number and the infinite simple continued fraction of $p^2 - 4$ is given as

$$\sqrt{p^2 - 4} = \begin{cases} (p, \overline{(p+1)/2, 2, (p+1)/2, 2p}) & \text{when } p \text{ is odd,} \\ (p, \overline{p/2, 2p}) & \text{when } p \text{ is even.} \end{cases}$$

The next two theorems give the convergents of $\sqrt{p^2-4}$ in terms of the generalised balancing sequence B_n . We prove these theorems in both cases p odd and p even. We first assume p is odd then by the continued fraction (p, (p+1)/2, 2, (p+1)/2, 2p) we have for $a_0 = p$, $a_1 = p + 1/2$, $a_2 = 2$, $a_3 = p + 1/2$, $a_4 = 2p$, $n \ge 1$.

$$\begin{bmatrix} h_n & k_n \\ h_{n-1} & k_{n-1} \end{bmatrix} = \begin{bmatrix} a_n & -1 \\ 1 & 0 \end{bmatrix} \begin{bmatrix} h_{n-1} & k_{n-1} \\ h_{n-2} & k_{n-2} \end{bmatrix}, \quad n \ge 1$$

Now taking $A_n = \begin{bmatrix} a_n & -1 \\ 1 & 0 \end{bmatrix}$ and $P_n = \begin{bmatrix} h_n & k_n \\ h_{n-1} & k_{n-1} \end{bmatrix}$ note we have $P_n = A_n P_{n-1}$, $n \ge 1$, and setting $N = A_4 A_3 A_2 A_1$, we prove the following lemma by using the formula in Theorem 2.4.

Lemma 2.1. For any positive integer t,

$$N^{t} = \begin{bmatrix} B_{3t+1} & -2B_{3t} \\ 1/2B_{3t} & -B_{3t-1} \end{bmatrix}.$$

Proof. Followed by induction.

Theorem 2.5. For an odd positive integer p, if the *n*th convergent of the continued fraction $\sqrt{p^2-4}$ is h_n/k_n then for every non-negative integer n the following holds:

- (i) $h_{8n} = B_{6n+2} B_{6n}$, (ii) $k_{8n} = B_{6n+1}$,
- (iii) $h_{8n+3} = 1/2[B_{6n+4} B_{6n+2}],$

(iv)
$$k_{8n+3} = 1/2B_{6n+3}$$
,

- (v) $h_{8n+6} = B_{6n+6} B_{6n+4}$,
- (vi) $k_{8n+6} = B_{6n+5}$.

Proof. We have

$$P_{4n} = A_{4n}P_{4n-1}$$

= $A_{4n}A_{4n-1}P_{4n-2}$
= $A_{4n}A_{4n-1}A_{4n-2}P_{4n-3}$
= $A_{4n}A_{4n-1}A_{4n-2}A_{4n-3}P_{4n-4}$
= NP_{4n-4}

therefore, we have

$$P_{8n} = N^{2n} P_0$$

= $\begin{bmatrix} B_{6n+1} & -2B_{6n} \\ 1/2B_{6n} & -B_{6n-1} \end{bmatrix} \begin{bmatrix} p & 1 \\ 1 & 0 \end{bmatrix}.$

Now by definition of P_n as

$$P_{8n} = \begin{bmatrix} h_{8n} & k_{8n} \\ h_{8n-1} & k_{8n-1} \end{bmatrix},$$

We have

$$h_{8n} = pB_{6n+1} - 2B_{6n} = B_{6n+2} - B_{6n}$$

and

$$k_{8n} = B_{6n+1}$$

Also

$$\begin{split} P_{8n+3} &= A_{8n+3} A_{8n+2} A_{8n+1} N^{2n} P_0 \\ &= \begin{bmatrix} 1/2B_3 & -B_2 \\ B_2 & -2 \end{bmatrix} \begin{bmatrix} B_{6n+1} & -2B_{6n} \\ 1/2B_{6n} & -B_{6n-1} \end{bmatrix} P_0 \\ &= \begin{bmatrix} 1/2B_{6n+3} & -B_{6n+2} \\ B_{6n+2} & -2B_{6n+1} \end{bmatrix} \begin{bmatrix} p & 1 \\ 1 & 0 \end{bmatrix} \end{split}$$

therefore $h_{8n+3} = 1/2[B_{6n+4} - B_{6n+2}]$ and $k_{8n+3} = 1/2B_{6n+3}$. Finally, $P_{8n+6} = A_{8n+6}A_{8n+5}N^{2n+1}P_0$. Therefore $h_{8n+6} = B_{6n+6} - B_{6n+4}$ and $k_{8n+6} = B_{6n+5}$.

Now, we prove theorem that give convergents of $\sqrt{p^2 - 4}$ in terms of Generalised Balancing Sequence B_n in the case when p is even. Now for p even, we have the continued fraction for $p^2 - 4$ given as $(p, \overline{p/2}, 2p)$ with $a_0 = p$, $a_1 = p/2$, $a_2 = 2p$, then note $P_n = A_n P_{n-1}$, $\forall n \ge 1$ with $A_{2n} = \begin{bmatrix} 2p & -1 \\ 1 & 1 \end{bmatrix}$ and $A_{2n-1} = \begin{bmatrix} p/2 & -1 \\ 1 & 0 \end{bmatrix}$. We have $P_{2n} = A_{2n}P_{2n-1} = A_{2n}A_{2n-1}P_{2n-2}$. Now setting $M = A_2A_1$ we prove the following lemma by using Theorem 2.4.

Lemma 2.2. For all positive integer *t*,

$$M^{t} = \begin{bmatrix} B_{2t+1} & -2B_{2t} \\ 1/2B_{2t} & -B_{2t-1} \end{bmatrix}.$$

Proof. Follows by induction.

Theorem 2.6. For an even positive integer p, if the nth convergent of the continued fraction $\sqrt{p^2-4}$ is h_n/k_n then for all non-negative integer n the following holds:

(i) $h_{2n} = B_{2n+2} - B_{2n}$,

(ii) $k_{2n} = B_{2n+1}$.

Proof. We have

$$\begin{aligned} P_{2n} &= M P_{2n-2} \\ &= M^n P_0, \\ P_n &= \begin{bmatrix} B_{2n+1} & -2B_{2n} \\ 1/2B_{2n} & -B_{2n-1} \end{bmatrix} \begin{bmatrix} p & 1 \\ 1 & 0 \end{bmatrix} \end{aligned}$$

implies

$$h_{2n} = pB_{2n+1} - 2B_{2n} = B_{2n+2} - B_{2n}$$
 and $k_{2n} = B_{2n+1}$

Communications in Mathematics and Applications, Vol. 13, No. 1, pp. 253–263, 2022

3. Solutions of Diophantine Equations $x^2 \pm pxy + y^2 \pm x = 0$ in Terms of Generalized Balancing Sequences

3.1 Existence of Solutions

The following section we show that the Diophantine equations $x^2 \pm pxy + y^2 \pm x = 0$ are solvable in integers for all positive *p* and express the solutions in terms of generalized balancing sequence.

Lemma 3.1. If the solution of $x^2 - pxy + y^2 - x = 0$ is (x, y) then (x, px - y) and (py - x + 1, y) are also solutions of the equation.

Proof. Follows by the simple verification.

Theorem 3.1. For all non-negative integer n, the following pairs satisfy the equation $x^2 - pxy + y^2 - x = 0$

 $egin{aligned} & \left(B_{2n}^2, B_{2n}B_{2n-1}
ight) \ & \left(B_{2n}^2, B_{2n}B_{2n+1}
ight) \ & \left(B_{2n+1}^2, B_{2n}B_{2n+1}
ight) \ & \left(B_{2n+1}^2, B_{2n+1}B_{2n+2}
ight). \end{aligned}$

Proof. First note $(B_{2n}^2, B_{2n}B_{2n-1})$ satisfies $x^2 - pxy + y^2 - x = 0$. On substituting $(B_{2n}^2, B_{2n}B_{2n-1})$ in $x^2 - pxy + y^2 - x$, we get by det $Q_{B_p}^{2n}$

$$(B_{2n}^2)^2 - pB_{2n}^3B_{2n-1} + B_{2n}^2B_{2n-1}^2 - B_{2n}^2 = B_{2n}^2[B_{2n}^2 - pB_{2n}B_{2n-1} + B_{2n-1}^2 - 1]$$

= $B_{2n}^2[B_{2n}^2 - B_{2n-1}(pB_{2n} - B_{2n-1}) - 1]$
= $B_{2n}^2[B_{2n}^2 - B_{2n-1}B_{2n+1} - 1]$
= $B_{2n}^2[0 - B_{2n-1}B_{2n+1} - 1]$
= $B_{2n}^2[0 - B_{2n-1}B_{2n+1} - 1]$

Therefore $(x, y) = (B_{2n}^2, B_{2n}B_{2n-1})$ is a solution of $x^2 - pxy + y^2 - x = 0$. Now, by above lemma note (x, px - y) satisfies the Diophantine equation $x^2 - pxy + y^2 - x = 0$ and we have

$$(x, px - y) = (B_{2n}^2, pB_{2n}^2 - B_{2n}B_{2n-1})$$

= $(B_{2n}^2, B_{2n}[pB_{2n} - B_{2n-1}])$
= $(B_{2n}^2, B_{2n}B_{2n+1}).$

Therefore $(x, y) = (B_{2n}^2, B_{2n}B_{2n+1})$ is a solution of $x^2 - pxy + y^2 - x = 0$. Now for $(x, y) = (B_{2n}^2, B_{2n}B_{2n+1})$ as it is a solution of $x^2 - pxy + y^2 - x = 0$, again by above lemma (py - x + 1, y) is also a solution of the Diophantine equation $x^2 - pxy + y^2 - x = 0$ and we have $(py - x + 1, y) = (B_{2n+1}^2, B_{2n}B_{2n+1})$. Therefore $(x, y) = (B_{2n+1}^2, B_{2n}B_{2n+1})$ is a solution of $x^2 - pxy + y^2 - x = 0$.

Similarly, as $(B_{2n+1}^2, B_{2n}B_{2n+1})$ satisfies $x^2 - pxy + y^2 - x = 0$ then (x, px - y) is also a solution of the Diophantine equation $x^2 - pxy + y^2 - x = 0$ and we have $(x, px - y) = (B_{2n+1}^2, B_{2n+1}B_{2n+2})$. Therefore $(x, y) = (B_{2n+1}^2, B_{2n+1}B_{2n+2})$ is a solution of $x^2 - pxy + y^2 - x = 0$.

Each of the four formulas for solution of $x^2 - pxy + y^2 - x = 0$, as in the above theorem, defines a class of solutions. We prove that these four classes of solutions are the only solutions for the Diophantine equation $x^2 - pxy + y^2 - x = 0$ in the following section.

3.2 The Four Classes of Solutions for Each of the Diophantine Equations $x^2 \pm pxy + y^2 \pm x = 0$

In this section, we prove that the four classes of solutions obtained in the above are the only solutions of the Diophantine equation $x^2 - pxy + y^2 - x = 0$. We recall some properties of convergents in the following theorems.

Theorem 3.2. If the integer M satisfies $|M| < \sqrt{D}$ then any positive integer solution (s,t) of $x^2 - Dy^2 = M$ with gcd(s,t) = 1 satisfies $s = h_n$, $t = k_n$ where the nth convergent of the infinite simple continued fraction, $\sqrt{D} = (a_0, a_1, a_2, ...)$ is h_n/k_n for n a positive integer.

Proof. See ([5, Theorem 7.22]).

Theorem 3.3. Let the infinite simple continued fraction of \sqrt{D} be $(a_0, a_1, a_2, ...)$ and suppose that m_n and q_n are two sequences given by

$$m_0 = 0, \quad q_0 = 1,$$

 $m_{n+1} = a_n q_n + m_n,$
 $q_{n+1} = (D - m_{n+1}^2)/q_n$

Then

(i) m_n and q_n are integers for any positive integers n,

(ii) $h_n^2 - Dk_n^2 = (-1)^{n+1}q_{n+1}$ for any integer $n \ge -1$.

Proof. See ([5, Theorem 7.24]).

Theorem 3.4. If positive integers p, x and y satisfy the equations $x^2 - pxy + y^2 - x = 0$ then there exists c, e such that $(x, y) = (c^2, ce)$ with gcd(c, e) = 1, where c and e are positive integers.

Proof. See ([4, Theorem 1]).

Theorem 3.5. For an odd positive integer p, every positive solution of $x^2 - pxy + y^2 - x = 0$ is of the form $(B_{2n}^2, B_{2n-1}B_{2n})$.

Proof. Consider *p* to be an odd positive integer. Let (x, y) be any solution of $x^2 - pxy + y^2 - x = 0$ which is positive then by Theorem 3.4 above note that there exists *c* and *e*, positive integers such that $(x, y) = (c^2, ce)$ with gcd(c, e) = 1. Then on substituting (c^2, ce) , we have

$$c^{4} - pc^{3}e + c^{2}e^{2} - c^{2} = 0,$$

 $c^{2} - pce + e^{2} - 1 = 0.$

This equation has integer solutions if and only if

$$\Delta = p^{2}e^{2} - 4(e^{2} - 1)$$

= $e^{2}(p^{2} - 4) + 4$ is a square

Therefore there is an integer t satisfying

$$\Delta = t^{2} = (p^{2} - 4)e^{2} + 4,$$

$$t^{2} - (p^{2} - 4)e^{2} = 4,$$

then we obtain

$$c = \frac{pe \pm t}{2},$$

Communications in Mathematics and Applications, Vol. 13, No. 1, pp. 253-263, 2022

by solving for (t,e) from the equation $t^2 - (p^2 - 4)e^2 = 4$. Now considering the continued fraction of $\sqrt{p^2 - 4}$ given as $\sqrt{p^2 - 4} = (p, (p+1)/2, 2, (p+1)/2, 2p)$ with $a_0 = p$, $a_{4n-3} = \frac{(p+1)}{2}$, $a_{4n-2} = 2$, $a_{4n-1} = \frac{p+1}{2}$, $a_{4n} = 2p$, for $n \ge 0$. Now by the above theorem we have the periodic sequence give as

$$\{(-1)^{n+1}q_{n+1}\}_{n=-1}^{\infty} = \{1, \overline{4, p+2, 4, 1}\}.$$

Assuming (t,e) is a positive solution of $t^2 - (p^2 - 4)e^2 = 4$ we have $(t,e) = (h_n,k_n)$ for some positive integers *n* by Theorem 3.2 and as $h_n^2 - Dk_n^2 = (-1)^{n+1}q_{n+1}$ by Theorem 3.3, we have by periodicity we have

$$\begin{aligned} h_{8n}^2 - (p^2 - 4)k_{8n}^2 &= (-1)^{8n+1}q_{4n+1} = 4, \\ h_{8n+3}^2 - (p^2 - 4)k_{8n+3}^2 &= (-1)^{8n+4}q_{8n+4} = 1, \\ h_{8n+6}^2 - (p^2 - 4)k_{8n+6}^2 &= (-1)^{8n+7}q_{8n+7} = 4 \end{aligned}$$

for all $n \ge 0$.

Therefore, all the solutions (t, e) of $t^2 - (p^2 - 4)e^2 = 4$ are

$$\begin{aligned} (t,e) &= (h_{8n}, k_{8n}) \\ &= (2h_{8n+3}, 2k_{8n+3}) \\ &= (h_{8n+6}, k_{8n+6}), \quad n \ge 0 \end{aligned}$$

Now for $c = \frac{pe \pm t}{2}$ the solutions (c, e) are

$$\begin{array}{l} (\frac{pk_{8n}+h_{8n}}{2},k_{8n}) \\ (pk_{8n+3}+h_{8n+3},2k_{8n+3}) \\ (\frac{pk_{8n+6}+h_{8n+6}}{2},k_{8n+6}), \quad n \ge 0. \end{array}$$

Using the theorem and rearranging, we get

$$(c,e) = (B_{6n+2}, B_{6n+1})$$

$$(c,e) = (B_{6n+4}, B_{6n+3})$$

$$(c,e) = (B_{6n+6}, B_{6n+5})$$

and finally as $(x, y) = (c^2, ce)$ we obtain

$$(x, y) = (B_{6n+2}^2, B_{6n+1}B_{6n+2})$$
$$(x, y) = (B_{6n+4}^2, B_{6n+3}B_{6n+4})$$
$$(x, y) = (B_{6n+6}^2, B_{6n+5}B_{6n+6})$$

and therefore

$$(x, y) = (B_{2n}^2, B_{2n-1}B_{2n}), \quad n \ge 1.$$

Therefore, any solution (x, y) of $x^2 - pxy + y^2 - x = 0$ is of the form $(x, y) = (B_{2n}^2, B_{2n-1}B_{2n})$ for p > 2 and also for p = 1.

Theorem 3.6. For an even positive integer p, every positive solution (x, y) of $x^2 - pxy + y^2 - x = 0$ is of the form $(B_{2n}^2, B_{2n-1}B_{2n})$.

Proof. Let *p* be an even positive integer. We have $\sqrt{p^2 - 4} = \left(p, \frac{\overline{p}}{2}, 2p\right)$. Let $a_0 = p$, $a_{2n+1} = \frac{p}{2}$, $a_{2n+2} = 2p$, $\forall n \ge 0$.

Communications in Mathematics and Applications, Vol. 13, No. 1, pp. 253-263, 2022

We have by periodic sequence

$$\{(-1)^{n+1}q_{n+1}\}_{n=-1}^{\infty} = \{\overline{1,4}\}$$

and

$$h_{2n}^2 - (p^2 - 4)k_{2n}^2 = 4, \quad \forall \ n \ge 0$$

Moreover, in this case all solutions of

$$t^2 - (p^2 - 4)e^2 = 4$$

are

$$(t,e) = (h_{2n}, k_{2n}),$$

$$(c,e) = \left(\frac{pk_{2n} + h_{2n}}{2}, k_{2n}\right).$$

But from the theorem if p is even then

$$c = \frac{pk_{2n} + h_{2n}}{2} = B_{2n+2}$$

$$e = B_{2n+1}$$

$$(x, y) = (c^2, ce) = (B_{2n+2}^2, B_{2n+1}B_{2n+2}).$$

Replacing n + 1 by n, we have

 $(x, y) = (B_{2n}^2, B_{2n-1}B_{2n}), \quad n \ge 1.$

Therefore, for a positive even integer p, every positive solution of $x^2 - pxy + y^2 - x = 0$ is of the form $(x, y) = (B_{2n}^2, B_{2n-1}B_{2n})$ for p > 2 and also for p = 2.

Theorem 3.7. For a positive integer p, all the solutions of $x^2 - pxy + y^2 - x = 0$ are

(1) $(B_{2n}^2, B_{2n-1}B_{2n}),$

(2)
$$(B_{2n}^2, B_{2n}B_{2n+1}),$$

- (3) $(B_{2n+1}^2, B_{2n}B_{2n+1}),$
- (4) $(B_{2n+1}^2, B_{2n+1}B_{2n+2})$, for all integers $n \ge 0$.

Proof. Let *p* be any integer and (x, y) be any solution of $x^2 - pxy + y^2 - x = 0$. Then (x, y) has to be (0,0), (1,0), positive solution or non-positive solution. If (x, y) is a solution that is non-positive then it is of the form

- (i) x > 0, y < 0, or
- (ii) x < 0, y < 0, or
- (iii) x < 0, y > 0.

If the solution (x, y) is as in (i) with x > 0 and y < 0; note by taking x' = x and y' = -y we have (x', y') is a solution of the $x^2 + pxy + y^2 - x = 0$ that is positive. Similarly, if (x, y) is as in (ii) with x < 0 and y < 0; then by taking x' = -x and y' = -y we have (x', y') is a solution of $x^2 - pxy + y^2 + x = 0$ that is positive, and if (x, y) is as in (iii) with x < 0 and y > 0; then by taking x' = -x and y' = -y we have (x', y') is a solution of x' = -x and y' = y we have (x', y') is a solution of $x^2 + pxy + y^2 + x = 0$ that is positive. Therefore, the solution (x, y), that are positive, are the only solution of $x^2 - pxy + y^2 - x = 0$. Note that if (x, y) is any positive solutions then by Theorem 3.6 and Theorem 3.1, we get that

- (1) $(B_{2n}^2, B_{2n-1}B_{2n}),$
- (2) $(B_{2n}^2, B_{2n}B_{2n+1}),$

- (3) $(B_{2n+1}^2, B_{2n}B_{2n+1}),$
- (4) $(B_{2n+1}^2, B_{2n+1}B_{2n+2})$ are all the solutions of $x^2 pxy + y^2 x = 0$.

The above theorem in general classifies all the solutions of the equations $x^2 \pm pxy + y^2 \pm x = 0$ as shown in the following theorems.

Theorem 3.8. For a positive integer p all the solutions of $x^2 + pxy + y^2 - x = 0$ are

- (1) $(B_{2n}^2, -B_{2n-1}B_{2n}),$
- (2) $(B_{2n}^2, -B_{2n}B_{2n+1}),$
- (3) $(B_{2n+1}^2, -B_{2n}B_{2n+1}),$
- (4) $(B_{2n+1}^2, -B_{2n+1}B_{2n+2})$, for all integers $n \ge 0$.

Theorem 3.9. For a positive integer p all the solutions of $x^2 - pxy + y^2 + x = 0$ are

- (1) $(-B_{2n}^2, B_{2n-1}B_{2n}),$
- (2) $(-B_{2n}^2, B_{2n}B_{2n+1}),$
- (3) $(-B_{2n+1}^2, B_{2n}B_{2n+1}),$
- (4) $(-B_{2n+1}^2, B_{2n+1}B_{2n+2})$, for all integers $n \ge 0$.

Theorem 3.10. For a positive integer p all the solutions of $x^2 + pxy + y^2 + x = 0$ are

- (1) $(-B_{2n}^2, -B_{2n-1}B_{2n}),$ (2) $(-B_{2n}^2, -B_{2n}B_{2n+1}),$
- $(2) (D_{2n}^{2}, D_{2n}D_{2n+1}^{2}),$
- (3) $(-B_{2n+1}^2, -B_{2n}B_{2n+1}),$
- (4) $(-B_{2n+1}^2, -B_{2n+1}B_{2n+2})$, for all integers $n \ge 0$.

4. Conclusion

We investigate some properties of the generalised balancing sequences $B_{n+1} = pB_n - B_{n-1}$. We describe the solutions of each of the Diophantine Equations $x^2 \pm pxy + y^2 \pm x = 0$ in four classes expressed in terms of generalised balancing sequences. It is observed that for any positive solution (x, y) of any of the equations $x^2 \pm pxy + y^2 \pm y = 0$, the interchanged pair (y, x) is a positive solution of the corresponding equations $x^2 \pm pxy + y^2 \pm x = 0$ and vice versa. Hence by the above arguments the solutions of $x^2 \pm pxy + y^2 \pm y = 0$ also can be expressed in terms of generalised balancing sequences.

Competing Interests

The authors declare that they have no competing interests.

Authors' Contributions

All the authors contributed significantly in writing this article. The authors read and approved the final manuscript.

References

[1] M. Bahramian and H. Daghigh, A generalized Fibonacci sequence and the Diophantine equations $x^2 \pm kxy - y^2 \pm x = 0$, Iranian Journal of Mathematical Sciences and Informatics **8**(2) (2013), 111 – 121, DOI: 10.7508/ijmsi.2013.02.010

- [2] A. Behera and G.K. Panda, On the square roots of triangular numbers, *The Fibonacci Quarterly* **37** (1999), 98 105, URL: https://www.fq.math.ca/Scanned/37-2/behera.pdf.
- [3] P.K. Dey and S.S. Rout, Diophantine equations concerning balancing and Lucas balancing numbers, *Archiv der Mathematik* **108** (2017), 29 43, DOI: 10.1007/s00013-016-0994-z.
- [4] A. Marlewski and P. Zarzycki, Infinitely many positive solutions of the Diophantine equation $x^2 kxy + y^2 + x = 0$, Computers & Mathematics with Applications 47(1) (2004), 115 121, DOI: 10.1016/S0898-1221(04)90010-7.
- [5] I. Niven, H.S. Zuckerman and H.L. Montgomery, An Introduction to the Theory of Numbers, 5th edition, John Wiley and Sons, New York, USA (1991), URL: http://www.fuchs-braun.com/media/ 532896481f9c1c47ffff8077ffffff0.pdf.
- [6] G.K. Panda and P.K. Ray, Some links of balancing and cobalancing numbers with Pell and associated Pell numbers, *Bulletin of the Institute of Mathematics Academia Sinica (New Series)* 6(1) (2011), 41 – 72, URL: https://web.math.sinica.edu.tw/bulletin_ns/20111/2011103.pdf.
- [7] G.K. Panda and S.S. Rout, A class of recurrent sequences exhibiting some exciting properties of balancing numbers, *International Journal of Mathematical and Computational Sciences* 6(1) (2012), 33 – 35, URL: https://publications.waset.org/11795/a-class-of-recurrent-sequences-exhibiting-someexciting-properties-of-balancing-numbers.
- [8] P.K. Ray, Balancing and Cobalancing Numbers, PhD. thesis, Department of Mathematics, National Institute of Technology, Rourkela, India (2009), URL: http://ethesis.nitrkl.ac.in/2750/1/Ph.D. _Thesis_of_P.K._Ray..pdf.
- [9] P.K. Ray, Certain matrices associated with balancing and Lucas-balancing numbers, *Matematika* 28(1) (2012), 15 – 22, URL: https://matematika.utm.my/index.php/matematika/article/download/ 311/304.

